
Grey Green Gold

6,000 + 90 5.87 + 3.123 = 25.34 x 10 =

8,275 + 82 91 divided by 7 = 60 divided by (30 – 24) =

826 = 800 + ? + 6 3.1 x 10 = 20 % of 3,000 =

? + 5 = 341 4.2 x 100 = 7 – 2.25 =

9 x 41 = ½ of 500 = 1.75 x 10 =

180 divided by 3 = 4.35 x 100 = 62.8 x 100 =

120 divided by 12 = 50% of 900 = Write the next number in the 
sequence
- 15, - 10, - 5  0 ….



Grey Green Gold

6,000 + 90 = 6090 5.87 + 3.1 = 8.97 25.34 x 10 = 253.4

8,275 + 82 = 8357 91 divided by 7 = 13 60 divided by (30 – 24) = 10

826 = 800 +  20 + 6 3.1 x 10 = 31 20 % of 3,000 = 600

336 + 5 = 341 4.2 x 100 = 420 7 – 2.25 = 4.75

9 x 41 = 369 ½ of 500 = 250 1.75 x 10 = 17.5

180 divided by 3 = 60 4.35 x 100 = 435 62.8 x 100 = 6280

120 divided by 12 = 10 50% of 900 = 450 Write the next number in the 
sequence
- 15, - 10, - 5  0   5



Grey Green Gold

213 x 0 = ½ + ¼ = Add -4 to 6.  What is the result?  

? = 87 – 65 What is the difference between 7 
and – 2

80.5 x 100 =

602 - ? = 594 5.4 x 100 = 45.6 x 1000 =

3.5 x 10 = 17.5 + 12. 2 = What is 12 less than 5?

4.8 – 2.5 = 52 x 5 = Which is bigger -0.5 or -3/4?

1/5 + 2/5 = 13.6 x 10 = Round 363 104 km to the nearest 
1000.

4/8 – 2/8 = 20 x 5 = 47.5 + 33.4 =



Grey Green Gold

213 x 0 = 213 ½ + ¼ =3/4 Add -4 to 6.  What is the result?  2

22 = 87 – 65 What is the difference between 7 
and – 2 = 9

80.5 x 100 = 8050

602 - 8 = 594 5.4 x 100 = 540 45.6 x 1000 = 45,600

3.5 x 10 = 35 17.5 + 12. 2 =29.7 What is 12 less than 5? -7

4.8 – 2.5 = 2.3 52 x 5 = 260 Which is bigger -0.5 or -3/4? ¾

1/5 + 2/5 = 3/5 13.6 x 10 = 136 Round 363 104 km to the nearest 
1000.           363,000

4/8 – 2/8 = 2/8 20 x 5 =100 47.5 + 33.4 =  80.9


